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Topic:- General Knowledge and Logical Knowledge

1) The most populated city in Madhya Pradesh is ./ IS UG RT T Ia9 MY SMaTdt a1dm Wev
g

1. Jabalpur / SIdeTYY
2. Satna / Hd-l

3. Gwalior / TTITIR
4, Indore / é'éR

Correct Answer :-

e Indore/ 37:3?

2) Which place in India is a reference for determining Indian Standard Time? / ﬁq'\tn'\wn:r R
S TG & FHuiRor g dey o 32

1. Kolkata / BB
2. Allahabad / Sdlgldlq

3. Mumbai /gmrs“
4. Delhi / faeait

Correct Answer :-

« Allahabad / Sdlgldlg

3) Which monument was declared as the World Heritage Site in Madhya Pradesh by the UNESCO in

20082 / DI AT VIR 2008 B TATD! §RT AA YT & Ay fovwya wa & v & i fovam man ur
1. Sanchi Stupa/“v'l'i?ﬁ“t?‘[q
2. Bhimbetka Caves / %Wﬁw



! , B e
4, The Narmada Tapti Estuary / THET drwit Tat & HFIef
Correct Answer :-

¢ Bhimbetka Caves / ﬂhﬁmﬁl h Q.

4) Which is the highest dam in India? / HIRd § JaH T T BT AT 8?
1. Tehri Dam /%6'\9[@:[‘51

2. Sardar Sarovar Dam / 9XGIR W Ty

3. Uri- I Dam / $_1-11 §7Y

4. Bhadra Dam / Y& §/Y

Correct Answer :-

« Tehri Dam / [égil Y

5) In 1947, who was the Prime Minister of Jammu and Kashmir? / 1947 ﬁ, GITELGﬁ'\' HIHR & YYTHHAT
P A2

1. Hazrat Nizamuddin / §oRd HSTE
2. Sheikh Maktoum / 2% Hhdd

3. Sheikh Abdullah / RRd 3fegell
4. Sheikh Mohammad / g AIgTC

Correct Answer :-
« Sheikh Abdullah / % S{egell

6) Under whose leadership was Operation Bluestar carried out? / s ﬁﬂﬁ o TR R foran
T 41?

1. Morarjee Desai / ARRS aﬂTSc
2. Indira Gandhi / gﬁ?‘f ey

3. VP Singh / 9iul Rig

4. Rajiv Gandhi / TSiid e

Correct Answer :-

¢ Indira Gandhi / 3‘3“ e



7) In which Indian city is Taj Mahal located? / f6T UR<T 8= # aromved UG 82
1. Mumbai /H@'Sgc

2. Agra/ 3R

3. Jaipur / SIgYX
4. Delhi / f&eit

Correct Answer :-

8) The first amendment to the Constitution of India made changes in / URAH dfay= & Ugdl TNy
Fifea A 3 foaa efta ure

1. 8™ Schedule / 89 SFTgEL

2. Article 370 / &G 370

3. Fundamental rights / JTIHd HITDR
4. Directive Principles / fAeze-Rgia
Correct Answer -

« Fundamental rights / HHd HfYPR

9) Kopra, Vyama and Bearna are all tributaries of . aﬁw, qarHT 3R faa==r aft
o HERID ATl §

1. Ken /b

2. Chambal / I&d

3. Tapti / arwir

4. Betwa / Sidl

Correct Answer :-

. Ken/aO_*f

10) Who is known as the ‘Flying Sikh of India’? / fr® «TreITSRT g oiTw $f3aT HeTwEaI 82
1. Milkha Singh / fore ¥g

2. Harbhajan Singh / RHGI g



e - o

4. Manmohan Singh / IFﬂ:hg:[ g

Correct Answer :-

« Milkha Singh / firear Rig

11) Who is known as the ‘Iron Man’ of India? / URd & ’?ﬁ? =y A ﬁqmﬁﬂ?ﬂ%?

1. Sardar Vallabhai Patel / 9RgIR qmm-ns‘ gcd

2. Netaji Subhas Chandra Bose / ERIKI gy CEEIR

3. Jawaharlal Nehru / STaTgR &Il A6

4. B.R. Ambedkar / &, 3/R.3FISHT

Correct Answer :-

« Sardar Vallabhai Patel / TGRqR qmm—n'a‘ Ucd

12) Who is the Chancellor of Nalanda University? / STTeiGT fayfaemeard & gaufd Hid 82
1. Amartya Sen / AT T
2. Ram Nath Kovind / 1Y Hifda

3. Vijay Bhatkar / fdoIa Heax

4. Sunaina Singh /fﬁﬂTﬁE{
Correct Answer :-
« Vijay Bhatkar / faoTg Yeax

13) Who has been the longest serving Speaker of Lok Sabha? / i GHT § Haife Jar & ?Bﬁ ard
ST DI 32

1. Meira Kumar/IﬁQTW
2. GMC Balayogi /Gﬁ@?ﬁam?ﬂ?ﬂ
3. Balram Jakhar / d¢RTH WIRdg

4. GV Mavlankar / STt 9t ATGEHR

Correct Answer :-

« Balram Jakhar / SCRH SRES



14) Which of the following is the second capital of Himachal Pradesh? / ﬁl"}l’%@ﬁﬁ @ Cac| it f%'qﬁlﬁ
TSR P gl IS 2

1. Dharamshala / eI
2. Hamirpur/BTﬂTER

3. Una /%Al

4, Solan /@IFFT

Correct Answer :-

« Dharamshala / uﬁSan

15) The first Jalabhishek Abhiyan was launched in Madhya Pradesh in the year . 'F[‘EHEI%SZT i
gl STaTiiy® o gy o T AT

1. 2015
2.2008
3. 2002

4. 2006

Correct Answer :-

e 2006

16) 1f 34 December 1999 is Sunday, what day is 3'% January 2000? / Tf¢ 3 feTaR 1999 IarR e a3
SITERY 2000 1 I A1 fa &2

1. Tuesday / HIIAR

2. Wednesday / IR

3. Thursday / [=dRR
4, Friday / [hdR
Correct Answer :-

» Wednesday / §HdIR

17) Complete the series choosing the missing number: / & TG B YEAT Bl [T BIFTT:
0,2, 3,58, 10, 17, 24

1. 16



3. 14

4. 15

Correct Answer :-

18) Complete the series choosing the missing number: / ol IBAT DT YT DI GRT BITOTC:
224, 195, 168, , 120

1. 143

2. 146

3. 144

4. 145

Correct Answer :-

19) Complete the series choosing the missing number: / & TSI BT AT Ed| T HIfoTE:
145, 170, 197, , 257

1.224

2.230

3.225

4. 226

Correct Answer :-
o 226

20) In which year was the Bangladesh Liberation War fought between India and Pakistan? /

o ad A aiveew gfed g, URd SR wifdewar & ot dsT 1 U
1. 1971
2. 1970
3.1972

4. 1973



WUIITTULL AIIDWCT &

e 1971

21) The foundation stone of North East India's 15t Indian Agricultural Research Institute
(IARI) was laid at . / JAIR YRd 9 Ugell R HIY ST HRIT (SATSTIMRIATS) B
STYTRRIET T 3t g At

1. Guwahati /7JdTgIC]
2. Gogamukh/ ThTI'IHE

3. Imphal / ELAN]
4. Kohima / ﬁ%tﬂ

Correct Answer :-

« Gogamukb/ TNTIE

22) The series given below contains a sequence of numbers. Identify the incorrect

combination: / - & 7 g #, Wl &1 TP HH SufRIG &1 T Fae Ugeg:
1, 5, 14, 30, 55, 90, 140

1.90

2.55

3. 140

4.5

Correct Answer :-

23) The series given below contains a sequence of numbers. Identify the incorrect

combination: / - &1 718 4@ §, TRAT3M BT TS HH SURRIA € | Tad Garei UgdI-g:
6,12, 24, 48, 96, 190

1. 48

2. 190

3.12

4. 96

Correct Answer :-



24) If CONTRIBUTE is coded TEBURINTCO, then how is APTITUDE coded? / e
CONTRIBUTE® TEBURINTCO W & fordl Sral 8, O APTITUDE 3 & Sifed fopar SRvm?

1. EDUTITPA
2. DETUTIAP
3. APTIEDUT

4. TUDEAPTI

Correct Answer :-

« DETUTIAP

25) Who is the founder of ISRO? / SR & TRITUP DI 82
1. Vikram Sarabhai /ﬁw FRT‘H'I%

2. Satyendra Nath Bose / BRESIPEIE]

3. Birbal Sahni / §Red Hrg-t

4. APJ Abdul Kalam / TS 3{egdl halld

Correct Answer :-

¢ Vikram Sarabhai /ﬁw HRT'HT’&c

26) If TELEVISION is coded VELETISION, then how is SUBSTITUTION coded? / 'CI'% TELEVISION &1

VELETISION ¥ ®if$d fdT STdT 8, df SUBSTITUTION &1 9 ®ifsd far Srm?
1. SUBITSTUTION
2. ITSBUSNOITUT
3. ITSBUSTUTION

4. SUBSTINOITUT

Correct Answer :-
o JTSBUSTUTION
27) Find the odd one out: / Th ICLE I Eﬁﬁrm':

1. Mathematics/ TTOTd]



o

3. Economics / IR
4, Science / ﬁiﬂ:{

Correct Answer :-

» English/ iU

28) Find the odd one out: / Th fauwm JMd ﬁﬁ'lE:
1.(13-17)

2.(7-11)

3. (19-25)

4.(19-23)

Correct Answer :-

« (19-25)

29) If the seventh day of a month is three (3) days earlier than Friday, what day will it be on the nineteen day
of the month? / TfE AEIA HT W4T &, Yepar A FiH 3) fe71 vd & ot v &1 It oA = A R &
qTdR Eﬁl‘ll?

1. Wednesday / §UdR
2. Monday / IR
3. Sunday / Ifaar

4, Friday / [hdR

Correct Answer :-

« Sunday / REEIN

30) Sam ranked ninth from the top and thirty eighth from the bottom in a class. How many students are

there in the class? / T B&TH TH BT I MY F a1 3R T A srsdiaai Tl 39 F&m d fraq s 82
1.48
2. 47
3. 46

4. 45

(10)



WUIITTULL AIIDWCT &

e 46

31) In tossing of two coins simultaneously, what is the probability of not getting two heads? /'q;f Ryawi o1

TP 1Y IBTAA A, 31 2 @) 781 3 FY fra- wiikear g2

1
1. 3
1
2. 4
1
3.E
3
4. 4

Correct Answer :-

[ ]
| 2

32) If MARUTI is coded NBSVUJ, then how is VEHICLES coded? / Tf& MARUTI &Y NBSVUJ | HiiSd
forar ST 8, Y VEHICLES & $9 wifsd foar smam?

1. WFIJDNFT
2. WFIJDMET
3. WFIKDMFT

4. WFIJDMFT

Correct Answer :-

s WFIJDMFT

33) In a certain language, fine silk is written as okara prena, clear water is written as menta
Jjenso, fine clear weatheris written as prena jenso carpa, What word represents waterin the
given code? / T W IS HIVT H fine silk B okara prena for@ ST €, clear water® menta
Jjenso @1 SITA1 8, fine clear weather®\ prena jenso carpa forar Sira1 g, feT e ol A &9 a1
Ve water 1 Tl oar 82

1. menta

2. prena

(11)



4. carpa

Correct Answer :-

e menta

34) The Constitution of India was adopted by the Constituent Assembly in / YRd & Afau &1
AU FHT R s?ratffr' SIYATIT 1T YT

1. 1951
2. 1952
3. 1949

4. 1950

Correct Answer :-

35) Select the option that is true about the Statements and Conclusions given:

Statements:
All noodles are cycles
Some candles are not noodles

Conclusions:
I. All candles are cycles
I1. Some candles are cycles

/ 39 fawed &1 gg B S e e wy=! ik fAspol & 9 d Tgl 3:
SY:

Tt I wsfoa ¢

EERECEIEERE N

fArem:
I. goft Mesil asfra €
II. $ HIHe< Arsfea &

1. both conclusions I and II follows / TN I 3R 11 Gl WW %
2. neither conclusion I nor conclusion II follows / - 33[ s 1 3R Tépf ey 11 S{ERUT A %’
3. only conclusion II follows / ad fISHY 11 STIRVT BT §

(12)°



Correct Answer :-

¢ neither conclusion I nor conclusion II follows / - 33[ fpy | 3ﬁ'\’ El Ep[ fpy 11 SR ARG %

36) Select the option that is true about the Statements and Conclusions given:

Statements:
All jumbos are fighters
Some boxers are jumbos

Conclusions:
I. All boxers are fighters
I1. Some fighters are boxers

/ 39 fapeu &1 9u1 HIfoe Sife e e wy=T ok fAewut & 9 A 48! 8:
DY:

Tt st weTE ®

PO IR ol §

A

I. 9} SRR 98T &

II. $O ASTP JIRR &

1. both conclusions I and II follows / FT5hY I @TII%WW%

2. neither conclusion I nor conclusion II follows /= E»pf fApy 1 GhT - _Gof ey 11 ST A %
3. only conclusion II follows / ad S 11 SRV BT §
4. only conclusion I follows / FHad Asmy 1 SR BT %

Correct Answer :-

« only conclusion II follows / Had HY I 3TIR0T 3l §

37) Select the option that is true about the Statements and Conclusions given:

Statements:
All travels are buses
Some travels are lorries

Conclusions:

1. Some buses are lorries
I1. Some lorries are buses

(13)



DY

it g 99 §

FO A AR &

o

L P IT AN §

ILFS AN aa g

1. both conclusions I and II follows / ﬁ&mh 3ﬁ? II a:ﬁ S RN B %

2. neither conclusion I nor conclusion II follows / 1 Bt fIsT I 3R 7 81 fAeeh 11 STERUI &l &
3. only conclusion II follows / &Had ey 11 S{IERUT pdT g

4. only conclusion I follows / Had ey 1 IR Hdl %

Correct Answer :-

« both conclusions I and II follows / FT&pS 1 3R 11 Gl SIFARTT PRI T
38) Select the option that is true about the Statements and Conclusions given:

Statements:
All umbrellas are plastics
Some umbrellas are not filters

Conclusions:
I. Some plastics are not filters
I1. All filters are plastics

/ 39 faeu &1 Ta-1 Sifog e G g Fy=T o sl & ar o 9%t &:
DY:

I B wife® §

PO B e T 8

Ao

I. T W fhees 181 8

11. T3t fibeer wies @

1. both conclusions I and II follows / FI5BY [ 3R 11 ST SIRRUT 3 &

2. only conclusion II follows / Had IS 11 SRV BT §

3. only conclusion I follows / Fad f5HY I STERUN &l &

4. neither conclusion I nor conclusion II follows /7 81 Fepe 1 3fR 7 81 w11 ST PRAE
(14)



WUIITTULL AIIDWCT &

« only conclusion I follows / Had FTHY 1 ST FRAT S

39) The jumbled letters of word is given below. Each letter has been numbered. Choose the option
which gives the correct order of the letters as indicated by the numbers to form the words. / Qe *
SrFafRId &R 12 e ¢ 8| Ud® 3R P Ywfed forar a1 §1 31 & fAwior & fore 39 fawey
BT 9G] HIFTE & H=me & gR1 SMd Fu # 1Rt & 98l HH &1 a1 2|

LAEMVR

123456

1.4,2,6,5,3,1
2.5,3,6,4,2,1
3.1,2,6,4,3,5

4.6,3,1,4,2,5

Correct Answer :-

e 4,2,6,5,3,1

40) Union Territories are headed by / Y MM ?I%'Qﬁ G| 371%? SRT YRR ﬁﬁnﬁﬂ?ﬂ%
1. Governors / TsgUled

2. Lt. Governors / 34 IsIUTel

3. President / TFgCIﬁI

4. Prime Minister / T3

Correct Answer :-
o Lt. Governors / 3U IsIUTd

Topic:- Mental Ability and Mental Aptitude

1) 2 ‘
The three fractions inseried between %and %are: / % AT 1—61 & @ Fafag de
3T &
491
9°19 2

(15)



|

ot
—
[fa)
Ot

—
[a—

oo
— ]
'~D|D
I

—
D

3.

4. None of the above / SURIGd H I Ob\lfér'_'lﬁ

Correct Answer :-

4 91
9°19 2
In the sequence shown below, which figure comes nexi? / A &3 IR &H H, Harell
HIGI Bl T IREI?
1 1l 11 L
1.
2.
3.
4,

Correct Answer :-
(16)



3) In the sequence shown below, which figure comes next? / =TTl f&?r T & #, 9T
HTpld Hid I HRE?

') A“-. at A - -
fa— \
£
L 1t 1 3 i
.'ﬁ“.
1.
..
[,,_f“A
2.
A
[—
3.
f“!“l
4.

(17)



U I0HUwWIiNEy two syudics SHHUWI DEIUw UYSIIdp?, Wil Ulie Q1 Uie IWIDWIEHILTY DpPuuiis

is formed? / fg = & @ Afdeaniad gier §, o o & & &l o1 v Aeded Ferar 82

W

5
NS

2.
T —
ih :‘Eﬂ
a-}?&; &
3. b

5) The price of a car is Rs. 4,50,000 which was insured against accident to 90% of its price. When the car
was damaged completely in an accident, the insurance company paid 95% of the insured amount. What
was the difference between the price of the car and the amount received? / € HIX B BEd 4,50,000 %

TPt gHledT & faes ST BT F 90% qP UG [HaT T YT 574 TH goeT § HR YUf &4

- (18)



dfpam oA
1. Rs. 65,500 / 65,500 ST
2. Rs. 66,000 / 66,000 3T
3. Rs. 65,250 / 65,250 T

4. Rs. 65,000 / 65,000 STY

Correct Answer :-

¢ Rs. 65,250/ 65,250 U4

6) A man covers a distance of 160 km at 64 kmph and next 160 km at 80 kmph. What is his average
speed for his whole journey of 320 km? / T 3TgHY 64 frei/der ot T1@ & 160 f5tlt. I g dr a7
FaT g SR fihR 80 fei/aer &) ara I 160 fmht. FY g Hr aa HRa1 81 320 fHh. Fr g @ FA A
SHB! STIT T FIT GRA?

1. 71.11 kmph
2. 81.11 kmph
3. 61.11 kmph

4. 51.11 kmph

Correct Answer :-

e 71.11 kmph

7) Lucky is older than Vicky by 6 years. 6 years back their ages were in the ratio of 1:2. Find the present

age %ucky./aﬁ,ﬁaﬁﬁﬁacfm%l 6 99 Jd STD! 3T BT SFUTd 1:2 AT| D DI TAHM MY
EICKZ]

1. 16
2.12
3. 18

4. 14

Correct Answer :-

8) Simplify the ratio 21 : 42 : 63. /21 : 42 : 63 3IUTA BT AXATHIIT B |

(19)



2.3:6:9
3.1:2:3

4,2:4:7

Correct Answer :-

9) A reduction of 10 % in the price of sugar would enable a man to buy 2 kgs of sugar more for Rs. 125.

Find the reduced price per kg/ﬁ%ﬂ@ﬁ 10 % D1 HU TP AfeT oI 125 $94 H 2 {67 Siftrw
T TteR ® 9w St | ufa foen & gen gou Jrd H91

1. Rs. 8.75/8.75 0
2.Rs. 8/8 ST
3.Rs. 6/ 6300

4.Rs. 6.25/6.25 30U

Correct Answer :-
« Rs.6.25/625%00

10) If the length of a square is increased by 30%, and breadth of the square is increased by 25%, then
what will be the area of the resulting rectangle, while comparing to the square. / afe o°f &t ml'if 30%
¢ S 8, 3fR o B ASTS 25% 9 SiTdt 3 al ufRunfie i &1 o7l &1 ger1 # S fear
Huill

1. 62.5%
2. 75%
3.55%

4.45.5%

Correct Answer :-

11) Tap A fills a tank in 6 hrs and Tap B empties the same tank in 9 hrs. If both the taps are opened

simultaneously, the tank will fill in: /WAWEﬁﬁ6ﬂ%ﬁwaﬂT%3ﬁTWBﬁ?ﬁEﬁﬁ9ﬂ%ﬁ
QTel B &at g1 afe Sl el Bt U a1y Wi faar Wi |t Et H YR STt

1. 15 hrs/ 156
7 (20)



3. 12 hrs/ 12 9¢

4.18 hrs/ 18 T

Correct Answer :-

« 18hrs/18%¢c

12) A person's present age is 2/5 the age of his mother. After 8 years, he will be 1/2 the age of his mother.
How old is the mother at present? / T® ST Bt TAHT T SHB! ATAT BT 3T T 2/5 31 8 T UYTa
a1 U=t TTaT BT T FT 1/2 T ST IHD ! UTAT B 3 FIHT | fHail 82

1. 40 years / 40 CL
2. 32 years /32 Gl
3. 48 years / 48 CL

4. 36 years / 36 G

Correct Answer :-
e 40 years /40 Gl

13) A person covers a distance of 800 m at a particular speed. If the speed is 15 m/s more, he would have
reached his destination 12 seconds earlier. Find the original speed. / Y fed U o=y ifar / 800 Hiex
Tt g3t B T HRa g1 Tl I 15 e ADvs 4w gt af 98 oA ided W 12 AHUs Ud ugT
TRIT BT | G 91Tl 1 [Tl D |

1. 30 m/s / 30 HIERAHTS
2. 25 m/s / 25 HICYADHUS
3. 20 m/s / 20 HIERAHTS
4,35 m/s / 35 BB

Correct Answer :-

. 25m/s /25 HieAHUS

14) In a packet of sweets there are 200 sweets. These are to be distributed among three groups of
students. The first group of 23 students will get 2 sweets each; the second group of students will get 1
sweet each, while the third group of 38 students gets 3 sweets each. If there are no sweets left after

distribution, how many students were there in the second group? /ﬁIBTg & Tdh e H 200 ﬁ-IB'I'Q‘TIT %I
3% OHE & diF 9l & 9 ¥ faalka #3181 23 B & 9y 99E ¥ ude 31 2 frersar e,

(21)



ferarit| af Rrewor ¥ vama B8 Wit fireTs 8t aac § o ger we A e o A
1. 40
2. 38
3.44

4. 35

Correct Answer :-

.« 40

15) In a factory, Sundar can do a piece of work in 6 days; Mahesh can do the same work in 4 days; and
Dilip can do the same work in 3 days. If they all work together, how many days will it take to complete
the work? / U SR A Yo TH B4 &Y 6 T3] i % Gbal 8; 7ow S ol 31 4 RATH B2
THT 7; AR ehiu St wrf Y 3 & &~ apar 31 9fe 3 99 Te 91y o1 wva § < Srd o gof
% | fora e @i

1;dlays / 1% et
1 2 2

1day /1 &=

2

1

3

2 daysi.?% G}
2

2 2
4= days / 4= T&=
) 2
4.

Correct Answer :-

16) In a group of 70 swimmers, if 10 know both breaststroke and freestyle; 20 know only backstroke;
and 35 know freestyle; then, how many of the swimmers know breaststroke? / 70 GRC] %'\‘T&? ﬁ'qﬁ' 10
NI ST 9 WP 317 WIS A S 8; 20 Pad WIS & a1 dvAT; 3R 35 WReSd oId §; o
P &1 e W S 52

1. 10

2.15
(22)



4.35

Correct Answer :-

e 25

17) A can do a piece of work in 12 days and B in 16 days. The two undertake to do it for Rs. 6,000. With
the help of C they are able to complete the work in 6 days. What is the share of A? / A U T BT 12

e A S g1 2 3R B 16f¢T A B3 Govd1 21 S 59 BRI P 6000 YA & o€ Hd €1 ¢ Y
TETIdT I 3 39 1 B 6 &7 o qof e A 9era €1 A &1 e fpamn 82

1. Rs.1,440 / 1,440 30T
2. Rs. 2,400 / 2,440 SUY
3. Rs. 2,880 /2,880 3T

4. Rs. 3,000 / 3,000 3T

Correct Answer :-

« Rs. 3,000/ 3,000 30T

18) Rama bought goods at a discount of 20% of the list price. He marks them at a price so that he can
give a discount of 20% on the marked price; but still makes a profit of 20% on the selling price. What
percent of the list price is the marked price? / ﬂ;’rﬁ HIHd BT 20% DI R[CWIH I @Rer| at 37%
U U 9 3ifhd war & o & 9t sifvd e IR 20% F1 @e ¢ ug; R R M oo g w98
20% T ATH TTCT & | Tl BT BT fpa-T ufa=ra ifpd gea 82

1. 180%
2.175%
3. 125%

4. 100%

Correct Answer :-

19) The average expenditure of a family for the whole year is Rs.30,000. The average expenditure during
the first 6 months was Rs.28,000. Find the average expenditure of the family during the last six months of

the year. / YUl 94 & T T URER &7 3 99 30,000 FUY T 1 TS 6 AR 3T 0 28,000 TUY
T a9 & 3ifqH T8 AT P SR URAR 7T 3 a7 1d B

1. Rs. 34,000 / 34,000 U4

(23)



3. Rs. 32,000 / 32,000 ST

4. Rs. 33,000 / 33,000 SUY

Correct Answer :-

« Rs. 32,000 /32,000 304

20) The average age of a class is 12. If the age of the piano teacher is also included, the average age goes
up to 13. If the ages of the piano teacher and the geography teacher who is 38 years old are included, the
average age further goes up by 1. What is the number of students in the class? / Tch DE&IT $t 3NTq S
12 31 e foramit g 31 omyg W afeifera 3t sime o oftra oimg 13 §Y Tt 81 3 ot Rrere
3R e Rrere B 3y, S o 38 uifa 8, 1 o wfRrfera fovam sime <f shwrd oy 1 9 3R ¢ oIt
T & H B Bt T T 52

1.24
2.23
3.22

4. 25

Correct Answer :-

21) 2194 + 6873 — 1951 - ? = 3587
1. 2359
2.3529
3. 2539

4.3592

Correct Answer :-

« 3529

22) Six years hence, a father's age will be three times his son's age and three years ago, he was nine times
as old as his son. The father's present age is / ©8 9 Uyt TS e 1 15 AP g G| S D ﬁ'l'ﬂ:ﬁ
g oY oiR <9 o gd 9t eram g 1 | A a9 A1 e w5 adue ey @

1. 24 years / 24 Gl

2. 40 years / 40 CL
) (24)



4. 30 years / 30 Gl

Correct Answer :-

e 30 years/30dY

23) In the month of May, Sagar purchased a packet of milk for Rs. 10.50, a litre of oil for Rs. 35 and a
kilo of cleaning powder for Rs. 26. In the month of June the prices of all the things changed. He paid Rs.
1 less for milk, Rs. 38 per litre for oil and Rs. 4 more for cleaning powder. How much was the difference

between what he paid in June and May? /ﬂé%ﬂﬁﬁ'ﬁﬁﬁﬁﬁﬁ{ﬂﬂﬁ@ Ieft 10.50 Wﬁ"‘@ﬁ?ﬁ,
TS diex a4 35 FUA H 3R T forall awTs Ursss 26 U8 A WileT 99 & wei- A afi avgen &
e § ufiad= 81 a1 39N gU & 1T 1 v 7 Y, 9a & R T 38 wiy ofier ok 9T
TS & 1T 4 TR 3if¥es AW | o 3k 98 & I9P YIa  faraar siaw U

1. Rs. 7 less / 7 300 &HH
2. Rs. 5 less / 5 B0 HH
3. Rs. 4 more / 4 T 3%
4. Rs. 6 more / 6 TYY 3{AH

Correct Answer :-

« Rs. 6 more / 6 U 3HAYFH

24) The number of times 589 is divided by 43 so that the remainder is less than 43 is: / Tl 9% 589 @I

43 9 faurfora fopan oime forast o Ruwa 43 A A B
1.12
2. 11
3.13

4. 14

Correct Answer :-

25) Ten years ago A was half of B in age. If the ratio of their present ages is 3 : 4, what will be the total of
their present ages? / G0 a4 Ud A @1 g B | 3ieft <ft | afe 37 adiv omyg o1 3qura 3 : 4 € <t
I®! TAHT 3T HT ARG FT EH?

1. 41

2.37
(25)



4. 30

Correct Answer :-

e 35

26) A tradesman's charges are 20% over cost price; he allows his customer 10% off their bills for cash
payment. What is his net gain percent? / Th IR & R[eh, v I T 20% 3P %', ql U UTed!
P THE YA & (18 39 9T W 10% e Dt Tl T 8 | STDT Yo a1 wfa=ra fora=n g2

1. 12
2. 10
3.15

4.8

Correct Answer :-

27) A number when multiplied by its reverse gives a number which is greater than 1400. Sum
of the digits of the humber is 7. Which of the following will be the required humber? / Th

=T &) 3HS| Sgobita =T | rd fFHar ST g =it 1400 & 34w 81 Femsi & 3iw! 1A, 7 81
fFrafafaa 3 3 o I snifée e 82

1.52
2.34
3. 61

4.25

Correct Answer :-

28) Which one of the following four addresses is NOT EXACTLY same as the one given below? / fafam

IR dl # | = 33 ™ ua & St 0 I A1 U T8 22

Ina-Maria

Burgunderstr. 8,

(26)



(i) Ina-Maria
Burgunderstr. 8,

Singen, 75196

(ii) Ina-Maria
Burgunderstr. 8,

Sinqen, 75196

(iii) Ina-Maria
Burgunderstr. 8,

Singen, 75196

(iv) Ina-Maria
Burgunderstr. 8,
Singen, 75196

1. iii

29) Find the average. / e TR
87,91,95,99,4 & 8

1. 67

2. 66

3. 64

(27)



Correct Answer :-

. 64

30) The series given below contains a sequence of alphabets and numbers. Identify the incorrect

combination: /ﬁaﬂg WE‘IT'E[, 3f&RY aﬁvmaﬁmwmﬁ%aﬁl Wwﬁqmﬁq
i.guirt40401rtuig

ii.guirt40401rtuig

iii.guirt404011tuig

iv.guirt40401rtuig

1. 1ii

2.1v

3.1ii

4.1

Correct Answer :-

o il
Topic:- Science and Simple Arithmetic
In the adjoining figure, PQRS is a square and OP =3 cm. Find PQ. / v a0 ™= #, PQRS

T e B 3R OP =534 g1 PQ Fd FIfAAT]

= R

.
V5 em
1.

V2 em
3.5cm

(28)



Correct Answer :-
W2 em

2)

Inthe adjoining figure, ABCD is a rectangle whose diagonals, AC and BD, intersect at 'O'. If
£0DA =32, ,04B=__ ./ fgu v &= &, ABCD v 39d & foige fasor AC 3R

BD fdg '0' oY Yicesied a¥d &1 e 20DA=32", LOAB=___.

D - C

1. 44°
2.58°
3.32°
4, 64°

Correct Answer :-

(29)



The frequency distribution of weights (in kg} of 50 persons is given below. Whatis the upper limit of'the
class, preceding the classinterval having the highest frequency?

Wt. in kg: 40-45 45-530 | 30-33 35-60 | 60-63

No. of people: 8 i4 1 6 7

Lh

/ 50 ohai & T (e, #) B aNadl g [@F gl 99T $hr I STHT &= &, =i 3
Igica arer @ar Jauel & I 87

HTT Tehal #: 40-45 | 45-50 | 350-33 35-60 | 60-65

olail bl & : | 8 14 15 6 7
1. 50
2. 55
3.65
4. 60

Correct Answer :-
e 50

4)

Which of the following numbers is not equal to (- %)4 7/ foeT & & i & g (- %)4 th

e 8T 57

4"%
L 7
4%
2. 7"
4.,
-(;)4
3.
—dx —dx —4x —4
4 TxT7Tx7x7

Correct Answer :-

(30)
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5) .
In the given figure, /||, find the value of x./ er I =4 7, I||#. ar x & & AT
it
<t >
130‘3/)>\1005
<l / \ = m
1. 50°
2. 40°
3. 80°
4. 30°

Correct Answer :-

6) Find the value of x, if 5x = (57.75)% - (42.25)2. / TfS 5x = (57.75)? - (42.25)2, &Y x T HI- JId BT
1.250.5

2. 340.75

3. 310

4. 290

Correct Answer :-

« 310

7) Find the value of 'a' if (x + 3) is a factor of X3 -x2 +12x +3a./ T (x+3) EUH”@E% X3 - x% +12x
+3a 1, I 'a’ BT A T BIOIC

1.34

(31)



4.24

Correct Answer :-

. 24

8) The circumference of the base of a cylinder is 132 cm and its height is 20 cm. How many liters

of water can it hold? / T 9a< & 3MYR 1 g 132 . § 3R ST SHTE 20 TH. 21 5HA fpaq
e Uit YT 5T ghar 82

1. 34.65 liters / 34.65 Tlex
2. 3.465 liters / 3.465 TeX
3. 2.72 liters / 2.72 ¥tex

4,27.72 liters / 27.72 TieX

Correct Answer :-

o 27.72 liters [ 27.72 qex

9) The area of a rhombus is 420 cm? and its altitude is 12 cm. Find its perimeter. / Wﬂﬂﬂ'{['ﬂ'\?{
BT &TBA 420 JH2 & 3R ST HATS 12 H | ST URHATY Jid HIOE|

1. 140 cm
2. 165 cm
3.135cm

4,120 cm

Correct Answer :-

¢ 140 cm

10) Rita has Rs. 500 in tens- and five-rupee notes. If the number of ten-rupee notes is 5 more
than the number of five-rupee notes, how many notes does she have in ten-rupee denomination?

/ ST & UTH 29 iR Ui TUA & el § 500 U &1 Ife <F U F A1) P =T, Ui I P A1e) B
T & 5 3 g, I IS U &9 T 91 foba e 82

1.32
2.28

3.35
(32)



Correct Answer :-

e 35

11) 'A' bought an article for Rs. 800 and sold it to 'B' at a profit of 5%. If 'B' sold it to

'C' at a profit of 10%, then the amount paid by 'C' is: / ‘A" 3 T® a3 800 U3 § W 3T 5%
& Y IR 'B' DI 99 faam 1 afg B AR ' DT 10% & AH W 94, A1 "' GRT G T YRR 0 gRf:

1. Rs. 886 /886 30
2. Rs. 924 /924 I
3. Rs. 842 /842 T
4. Rs. 958 /958 S0

Correct Answer :-

e Rs. 924 /924 3T

12) The cube root of 0.002744 is: / 0.002744 &1 a4qa 5= 2

1.0.18
2.0.14
3.0.014

4. 0.018

Correct Answer :-

13) Find the difference between compound interest and simple interest on Rs. 62500 at
12% per annum for 2 years. / 62500 ¥4 TR 12% TP ST &3 TR 2 TU P Tehgiex qUT ATYRO]
T H SR J1d BIfoTg |

1. Rs. 800 / 800 3T

2. Rs. 950/ 950 30

3. Rs. 850 /850 30

4. Rs. 900 / 900 3T

Correct Answer :-
(33)



14) Find the length of a side of a square whose area is equal to the area of a rectangle of

dimensions 144m and 81m. / I T B} YT B GETS 719 DIOTE, ITDT ST et 144 7. TUT 81 7
fawTait arel emad & Q9P S RIS |

1. 156 m/ 156 .
2. 108 m/ 108 HI.
3.110 m/ 110 #I.

4,128 m/ 128 |l

Correct Answer :-

e 108 m/ 108 HI.

15) Select the most accepted advantage of the regulation of gene action. / SH fopa & oo &1 9ad
e e ATy g |

1. Enables the cells to adjust their metabolism to environmental changes only / Rt 3o =g %1 yatarr
aRad= 3 THMEINT B & o HIRIBTSH Bl Femd BT g

2. Play a role in growth and differentiation, causing morphogenesis only / Ry faeprg ik fAve o @W
T &, oI SRUT AT A Bl 5 |

3. Protein synthesis is stopped when not required only / 4 T ey s o o ST % NERIEEEE

SRR
4. All the above / Jugad Tt

Correct Answer :-

« All the above / SUgad Haft

16) Which of the following statement is false? / = 4 A9 91 oY 3N %
1. Mitosis helps in body repair. / JHIAT ¥ NP gUR b} Jeldh Eﬁ?ﬂ %I

2. Cell division increase body size. / PIRABT TTHSH T IRR BT MHR dedl %l

3. Meiosis occurs in reproductive cells. / WW CAREAR] ﬁ_@?ﬂ %’l

4. The daughter cells from the same mother cell are not identical. / JHIT WD PHITIHT DT Hald CAINEIIY

U TRl Bl 8 1

Correct Answer :-

(34)



17) Which of the following scientists gave the principles of inheritance? / a9t aﬁT&ﬁ? el

STga R 1 Rigia fear
1. Griffin / Bt

2. Johanssen / \_IﬁTE:'F\‘:H
3. Mendel / Had

4. Watson and Crick / 9lc Td fohhs

Correct Answer :-

¢ Mendel / fl@'{(_*f

18) Which are the ions present in Na,O? / Na,O B B o AT U HG %.?
1. Na*: 0%

2.Na*: 0

3.Na": 0%

4.Na : 0%

Correct Answer :-

« Na*:0*

19) Nuclear power plants pollute air by releasing ./ UHI[ Soll Iad 3| ﬁ'ﬂﬁ
PP aTg DI Ui Hrar gl

1. CFCs / Siumd)

2. Oxides of nitrogen and sulphur / "Ilsg.\lvi"l TAT IR b &Tdﬂlss
3. Radio-active radiations / YSaT Tfepa fafesor

4. Fly ash/qﬂ'léﬁm

Correct Answer :-

« Radio-active radiations / ST Tferd fafeor

20)
(35)



TP T T GU0 g1 e TR & TSR Argura g1 & ¢
1.2:1
2.1:4
3.1:2

4. 1:1

Correct Answer :-

21) Why mitochondria and plastids are called semi-autonomous organelles? /q@m Td WS

DI AR PIRGIT FI Had 52

1. These can synthesize some of their proteins / DRSS o) PY UIEH! &1 W= B Tovd %I

2. They have DNA, RNA, ribosomes and enzymes / 371'&[ _Eﬂ'Q'ﬂ'Q, SRUAU, TIE_@I@W 3R LECIEL _@ﬁ %I
3. It contains DNA and proteins / éﬂﬁ @ﬁw \ﬁ? UdH _@ﬁ %'-I

4. It contains oxysomes / sﬂ'ﬁf &ﬁa%ﬂ@ﬂ @ﬁ %l

Correct Answer :-

e They have DNA, RNA, ribosomes and enzymes / 3’7{1}[ S"QHQ, SRTAU, Tlgm'q 3?'7 U-ollgH Eﬁa %I

22) attach muscles to bones. / Ao &) sfeua @ Gﬁ?ﬁﬂ %I
1. Cartilage / IURY

2. Tendon / ST

3. Muscle / HGURR

4. Ligament / G'I'@IW

Correct Answer :-

+ Tendon / HSx]

23) Silk fibers are taken out from the WELL GG ¥ W fpe od gl
1. cotton ball / Plc dId

2. bark of the plant / Ug &l BId

3. fleece of sheep / ﬂ@"q’ﬂw
(36)



Correct Answer :-

+ cocoon/ W

24) The nearest star to our solar system is: / E'FIﬁ' TR YoTTel &1 fAdean arT A= %:
1. White dwarf / Rdd I

2. Alpha Centauri / Tethl IR

3. Black hole / &1 BIdt

4. Brown dwarf / HT dTH

Correct Answer :-

e Alpha Centauri / Tetpl e

25) The device used for measuring potential difference is known as: /YR & AU & ferg Ugad
g1 9ol fearey = & =0 § ol 9l 8:

1. Potentiometer / fTaHaHTAY
2. Galvanometer / ilﬁ;i Hiex
3. Voltmeter / dlecHier

4, Ammeter / Qﬂ X

Correct Answer :-

e Voltmeter / dlecdiex

26) Which one of the following blood vessels contains only deoxygenated blood? / fadd
5 T Yo arfewT # Fad Reieiiv=a $RR gar g2

1. Aorta / HETYHHAT
2. Pulmonary vein / pUhd RRT
3. Pulmonary artery / W-?ﬂ:l:ﬁ

4. Coronary artery / €G-

Correct Answer :-

+ Pulmonary artery / W—W:ﬂ

(37)



1. Full moon / tﬂﬁﬁ:ﬂ

2. Gibbous moon / 1§ IgHT
3. New moon / S{HIGH]

4, Crescent moon / G{?j;‘l??

Correct Answer :-

¢ New moon / SHIGH]

28) ABCDisa cyclic trapezium with AB || DC. If ZA = 70°, then £B = ./ ABCD T
guaa gy 8 Srad AB || DCc BRI 2A=70", @ 2B=__.

1.35°
2. 85°
3. 70°
4. 60°

Correct Answer :-

29) Name two of the crops mentioned below are kharif crops: / = S waal § 9 o9 |
T TP P B o

Paddy, wheat, mustard, ground nut, pea, gram / T, 'ﬂ'§", W, 'TTWﬁ, HSR, IHAT

1. Paddy and mustard / &9 Td T4

2. Paddy and gram / Y19 Td T

3. Paddy and ground nut / 4T T4 TTEb_Cﬁ

4. Paddy and pea / YT Td AR

Correct Answer :-
« Paddy and ground nut / T Td Tl
30) What is the duration of kharif crops? / WP B Bt G T %?

1. October to March / 3fagaR o AR
(38)



o (=N

3. November to April / TdFR T 3d
4. March to September / A ¥ Rgwr

Correct Answer :-

« June to October / S I 3dcaR

(39)



